EARAROBEEIERT — 2 N— IBISH —F

2015558178 (B) 4EI£R3H

Il 3B-E—3 Y5R 3% (xwlw | lmEmml - v 6) o s
[AE4£] 1 7% :200,000™ ~ 237%&:40,000” ~ 337%&:18,000 M . 43&:14,000 537 :8,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
[T B 4 3 | BEEBLE 1:31.1 1-3-3-1 |39.0| — 1 462 | BARR (£R)
1 ARk add 5.0 ) (o | W) 77— bETa>
R:TZATLXEM L B:AXETTTANA AXETa—T7—L4h
N .= IBIHHRT :31. -1-1- . — hnEERNE (£R)
21111 IAaAY 1T 4 3 0 1(7311:; 1-1-1-1 | 39.4 3 (4_931) e
LHIRT TR BIIhAY IS L E FiE
o .= . $FARKR— : 00— - =B (&R
3lglgl/fvot7510% it 3 o 1.(362>.3 3-2-2-3 | 40.4 5 12(1);1 2
R:TTYIRAR BNLT—ZR B {ER
S, it 3 | BILURF 1:32.4 5-5-5-5 |39.8| — 2 422 | £H—-E& (&R)
4 WM 4 AV = 54.0 7€) (-6) ﬁiﬁﬂlz /
L ZAZAAR R BILY—-3IXTF% E BB
S 4t 3 | SHES 1:32.9 6-7-6-6 | 40.0| — 4 432 | SHAREH (£R)
5 &N 3 /5 — A 556_0 (2 1/2) “+3) (#%) Z7—XhED3>
RNAT =4 =L B:¥F~xFLN—Fh TR BR
W i 3 | BEEF 1:33.0 4-4-4-4 | 40.5| — 6 374 | HARR (£R)
6 5| ARSTTIX 54.0 (1/2) g |LTE
L:F>T747 B:O0FRKXZAL inpZrae
. . ShEGE . o o _ BREBfE— (£IR)
a0 P Ny - # 3 JRH (17;?2% 8-8-6-7 | 39.8 7 ;1_8;8) P
R:TFv k-9 BIRF—TUU-— peilzzbie
— W=, = 4 3 | AEH 1:33.2 7-6-8-8 | 40.0| — 8 470 | BA—3 (£R)
sl 2 ATFIITTT > 56.0? (1 1/2) -7 (=) JPN;’ﬁEﬁ
R:O-I>TUL BihH—FY ' %2
@ 1—F—@&BIEf
1a—74— (1,7),8,5,4,3,2,6
Aol=5r= 1,8,7,5,4,2,3,6
G§a=7r= 1,8,7,5,4,(3,6),2
41—+ — (1,7),8,5,4,3,6,2
[ RN
B OB 7 110 714K 1-7 130H B E 1-7 300 &R 1-7-8 1,330H
8 B 7 110 7-8 450MH B H 7-1 430 JEH 7-1-8 2,590/
1 1204 1-8 1,240H
8 390H

ABICOVWTRDTEEERROODE. TR LIV,




